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2. Mundra Port

1. Consider the following statements :

1. Jhelum River passes through
Wular Lake,

2. Krishna River directly feeds Kollery
Lake.

3.

Meandering of Gandak River
formed Kanwar Lake,

How many of the statements given
above are correct?

fa) Only one
{b) Only tweo
fe) Al three
{d)] None

2. Consider the following pairs :

Port Well known gs

1. Kamarajar Port : First major port in India

registered as g company

: Largest privately owned

port in India
3. Visakhapatnam : Largest container port in
Port India

How many of the above pairs are
correctly matehed?

fa) Only one pair
(6) Only two pairs
(¢} All three pairs
(d) None of the pairs

3. Consider the following trees :

1. Jackifruit (Artocarpus heterophylius)
2. Mahua (Madhuca indica)

3. Teak (Tectona grandis) ~

How many of the above are deciduous
trees?

(@) Only one
(b) Only two
fe) All three
(d) None

XDTG-F-GST/62A

5. Which one of

4. Consider the following statements -

1. India has more

arable area thap
China,

2. The proportion of irrigated area is
more in India ag Tompared tp
China,

3. The

average pmductivit r
hectare in Indj y _pe

, an  agricultuyre is
higher than that in Ching.

How many of the above stat
gl ta tments are

{a) Only one ~
(b) Only twe
fe) Al three
{d) None

the following :
€Xample of repeate 4 T:?il;gi 18 the hegt
BIVINE rige

marshland? i mﬁ“m’d“; Eﬁtc:'f;ev]é
fa) Bhitarkanilg MH—“-E"W&&

ﬂ’.‘ Mﬂrakkanam Salt Pﬂna

(e} Naupada Swamp
fd) Rann af l{utc_‘h

ile, abung
m];:crta_in Ccoastal tractam;::l -B.ﬁa.h]e
TN sources of wh; » Are
following? h one of o
fa) Aluminium -
(b) Copper
fc) Iron

(d) Titanium

7. About three-fourths o

f world's co
a metal required for the Manufacty re
of batteries for electri

re
€ maotor Vehicles,
is produced by

{a) Argentina ~

{b) Botswana

(¢) the Democratic Republic of e
Congo

fd) Kazakhstan

| PT.0.



8. Which one of

10. With reference to India’s

the following is a part of
the Congo Basin?

(a) Cameroon

(b) Nigeria

fc) South Sudan
(d} Uganda

9. Consider the following statements :

1. Amarkantak Hills

confluence of
Sahyadri Ranges.
Biligirirangan Hills constitute the
casternmost part of Satpura Range.
3. Seshachalam Hills constitute the

southernmost part of Western
Ghats.

are at the
Vindhya ang

How many of th
above are correct?

fa) Only one
(b} Only two
fe) ALl three
{d} MNone

e statements given

projects on

connectivity, consider the following

statements :

l. East-West Corridor under Golden
Quadrilateral Project connects
Dibrugarh and Surat.

Trilateral Highway connects Moreh
in Manipur and Chiang Mai in
Thailand via Myanmar.

3. Bangladesh-China-India-Myanmar
Economic Corridor cnnnef:tu
Varanasi in Uttar Pradesh with
Kunming in China.

How many of the above statements are
correct?

(a) Only one
(6) Only two
e/ All three
(d)] None

XI}TG—-F‘—GSTJ' 62A

11. Consider the following statements -

Statement- :
India, despite having
deposits, depends
its electricity production,
Statement-I] -

Uranium, enriched to the extent
at least 609% e

v 18 required for
Production of electricity. e

Which one of the following ; :
respect of the above o DXL i

atatemcnta?
(a) Both Statement_| and

(bl Both Stateme

Statement_]

r
.‘df Statemcnt—-l is
Corree
Statement|g is incorrect ' ou
fd) Statement-] is  ineg
o
tatement—|p is CoOrrect s but
12. Consider the fOHUWing statcmcnts :
Statement-J -
Marsupials are not naty
Indig. rally found jp
Statement-11 .

Marsupials can thrive

only in
grasslands with no A

Mo
Predatorg g

Which one of the followi

. is CofTect
In respect of the ahove statementgy

fa) Both Statement-I ang Statement-;
< are correct and Statement

3 ~II is the
comrect explanation for Statement-1

(b) Both Statement-I and Statement-I1
are correct and Statement-[] in

not the correct explanation for
Statement-]

c) Statement-l is  correct but
Statement-I1 is incorrect

(d) Statement-l1 is incorrect but
Statement-II is correct

[ P.T.O,
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13. Invasive Species §

les Specialist Group’ (that 16, Consider the following statements :
%eve]npa Globat 'ﬁi’aﬂmﬁpeciez

|s] i :
fu%?m?:}ﬁbﬂmﬁﬁa :_';h“v‘h one of the 1. i::;ree r;p:;ahmums have medicina]
fa] The Internationa) Union  for )

Conservation of Nature '

Snr_ne mushrooms haye pPsycho-
active properties.
B) The United Nations
Pro

Environment
Eramme

3. Some mushrooms have insecticig
” al
Properties,
fc) The United Nations  World
mmission for Environment and 4. Some mushrooms haye biolumj-
Development fiescent properties,
d) The Worl id
(d) The World Wide Fund for Nature How many of the above statements are
correct?
14. Consider the following fauna :
fa) Only one
1. Lion-tailed Macaeque
fb) Only two
2, al v
Malabar Civet fc) Only three
3. Sambar Deer @ Al four
How many of the above are generally

nocturnal or most active after sunset? 17. Consider the

foHuwing statemeng
regarding the Indian squirrels : -
fa) Only one
1. They build €38 by makin
(b) Only two burrows in the ground, s
fe)  All three 2. They store their food materialsg like
nuts and seeds in the Eround.
(d) None
3.

They are omnivorous.
15. Which of the following organisms perform

waggle dance for others of their kin

How many of the above
to indicate the direction and the

Statements are

correct?
distance to a source of their food?
(a) Butterflies fa) Only one
(b} Dragonflies {b) Only two
fe) Honeybees {if  All three

fd) MNane
(d) Wasps

| PT.0.
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18. Consider

the following statements -
1.

Microorganisms can grow
M environments with te

mperature
ow the freezing point of water,

SCrape insects from
a hole in a tree o a log of wood?

[{e]] Fishing cat

(b) Orangutan

fc) Otter-

(d) Sloth bear

20. Consider the following :

(]

Aerosols

2. Foam agents
3. Fire retardants
4,

Lubricants
In the making of how many of the abave
are hydrofluorocarbons used?
fa} Only one
(b) Only two
) Only three
(] Al four

XDTG-F-GST/62A

21. Consider the following statements

Statement-] -

Interest income from the deposits
in Infrastructure Investment Trusts
(InvITs) distributed to their investors ig
€xempted from tax, byt the dividend is
taxable, _: .
Statement-I| -
InviTs are Tecognized gag
P under the ‘g i

Ement—|
Both Statr.rnent-[ and § ternnnt-ll
imt réarrm and Etatement-—ll is
o £ Correct 1 i
Sl;atcml:ntl dhation for
() Statement-| is
COrre
tatement_|y is im:urrel:t N e
fd) Statt:menbl incg
ITec
Statement—II is COTTecyE et but
22. Consider the fulluwmg Statemengg -
Statement-] : .

fnany Central B

ast,

: ; ANks worldws ephad
carned out Interest rate hikes

Statement-1] -

Central Banks Enerally assume at

. tg.r to Eounterge the

rsing consumer prices wvig MONetamy,

policy fneans. s

Which one of the following s correct in

respect of the aboye Statementgp

fg) Both Statement-1 ang Statcmem—u
are correct and Statement—[g 12 the

correct explanation for Statement—|

Both Statement-1 and Statement-j|

are correct and Statement-1} is

not the correct explanation for
Statement-|

ﬁ;} Statement-|

(by

15 correct but
Statement-11 is incorrect
(d) Statement-1 is  incorrect bt
Statement-11 is correct
9 | R.T.O.



23. Consider the following statements :
Statement-] -

the
against climate
Stat-:ment-n :
Carbon m
from the p
Which one gf
respect of the

(a)

(b

fe)

{dj

bon markets are likely to be one of

Most widespread tools in the fight
change. v

arkets transfer TesoUrces
rivate sector o ‘the Stg_m,te.

the following is correct in
above statements?

Both Statement-1 and Statemeng-[1

are correct and Statement-I is the'
correct explanation forsg

tatement_]
Both Statement-| and Statement-1j F
are correct ang Statement—[} is™’
not the ¢

g™
orrect explanation for
Statement-]

Statement-| is correct but
Statement-I1 is incorrect
Statement—] is

incorrect but
Statement-|]

s correct

24. Which one of the following activities of
the Reserve Bank

of India is considered

1o be part of ‘sterilization"?

f‘ai,

()
(<]

(d)

Conducting ‘Open Market
Operations’

Oversight  of settlement  ang

payment systems
Debt and cash management for the
Central and State Governments

Regulating the functions of Non-
banking Financial Institutions

25. Consider the following markets

1.

Government Bond Markert .

2. Call Money Market

3. Treasury Bill Market }

4.  Stock Marker

How many of the above are included
In capital markets?

fua) _I!JI.I-jf'.'_l‘.l-l'lt'.f’

b} Only twos

) Cnly three

{d] All four

11
XDTG-F-GST/62A

(b4 Many margina] farme

27. Consider

K 1.

26. Which one of the following best describes

the concept of ‘Small
Field?

fa) Resettlement

Farmer Large

of a large number
of people, uprooted from their
countries due to war, by Biving
them a large cultivable land which
they cultivate collectively and share
the prodyee

fc)

for a fixeq term  fop
COTporate body Makey a
of agreed amount tg the ['Ermr‘;m
{d) A company extends loans techn;
knowledge ang Material ingy  CAL
& number gf e
an Area so thag th
agricultura Commodj

e Company
manufacmﬁng

: Procesg
commercial Production e
the following slatements -

The Government of Indig
Minimum Support Priee

Providesg
(Guizotiq abyssinica) seeq

for Nigey
8.
Niger is cultivated as a Kharif ¢r, p.

Some  tribal people

In India yge
niger seed oil fgr

cooking,

How many of the
carrect?

above statemenis arg
@l Only one
b Only two
) All three

{d} None

| P.T.O.



28, Consider the inves

{

tments in the following
assets :
1. Brand recognition _-
2. Inventory
3. Intellectua) property ~~
4.

Mailing list of clients

How many of the above are considered
Intangible i:weatm:n;_s?

@l Only one:
(b) Only two 4
(¢) Only three »
fdl Al four

29, Consider the l'nl]awing 3

30. Consider the following

1
2.
3.
%
5.

Demographic performance

Forest and ecology .~

Governance reforms +

Stable government {

Tax and fiscal efforts «

For the haorizontal lax devolution, the
Fifteenth Finance Commission wused
how many of the above as criteria
other than poepulation area and income
distance? — .

fa) Only twe

(b) Only three

(e} Only four

(d) Al five

infrastructure
seclors

1. Affordable housing

2. Mass rapid transport ¥
3.  Health care .-

4. Renewable ENETEY ..
On how many of the above does
UNOPS  Sustainable

Investments in

Innovation  (S3i)
mitiative focus for its investments?

fa) Gnly one
(b}  Unly two

fe} Only threes,
fed)  All foun

frastructure  and

XDTG-F-GST/62A
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33. Which one of the

31. In essence, what does ‘Due Process of

Law’ mean?

(@) The principle of natural justice””
(b) The procedure established by law"
(e} Fair application of law .

(d) Equality before law

32. Consider the following slatements :

Statement—] H

In India, Prisons are managed
State Governments with their qu{
rules  and regulations  for the
day-to-day administration of prisons,
Statement- -

In India, prisons are Eoverned the |
Prisons Act, 1804 which nxp?:aslfr |
kept the subject of prisons in the
control of Provinecial Guvemmcnts.
Which one of thé following is ¢g i
rect in
respect of the above statementg?
(a} Both Statement

-1 and Statementy;
are correct and Statem

cnt-11 is the
correct explanation for Statement—]
(b) Both Statement-g and Statement-y
are correct ang Statement—j] is
not the correct explanation for
Statement—]

fe) Statement-]

is cotTect
~ Statement-]|

. but
1% Incorrect
(d} Statement-] s

incorrect bt
Statement-1] ig correct

following statements

Chief purpose of the

a country?

fa) It determines the objective for the
making of necessary laws.

best reflects the
‘Constitution’ of

(b) 1t enables the creation of political
offiges and a government

(Tt defines and limits the powers of
BOvernment.
fd) 1t secures social

justice,

social
equality and social secunty

| P.T.O.



34. In India, which one of

the following )’f With reference to Financp Bill and Mo_nﬂy
X Cﬁljstimtinnal Amendments was widely Bill in the Indian Parliament, consider
‘:hﬂ‘-‘ﬂ‘t?d o be enacted to gyercome the following statements -
i interpretati of the i
Fundamenta] Rights? 1. When the Lok Sabha.r transmits
(@) 1st Amendment + Finance Bill to the Rajya S{zl.l:.tha.,lllltIt L
(b) 42nd Amen dment* 1t can amend or reject }hc Bill, .
fc) 44ih Amendment 2. When the Lok Sabha transmits
(d) 86th Amendment+ Money Bill to the Rajya Sabha,
i X = it cannot amend or reject the Bill,
3_§/ Can?-}:l:rmt%-xr::di ;‘n:llumng OTganizations/ it can only make reco ndations,
1. The Nationa] Commissi 3. In the case of disagreement
Backwarg Classes i.]/-‘gl son - for bﬂmtn the Lok Sabha ang the
2. The National Human Rights Rajya Sabha
Commission -+
3.

A} » there ig pg joint
Siiting for Mon

X ney, Bill, but a joint
The National Law m‘tﬁr_lg beco

Commission l(
4. The Natio

mes Necessary f
Finance Bil. = SF?;,EH\ f’
nal Consumer Digpytes ' e P
Redressal Commission How many of the above statements are
How many of the g Ve  are correct?
constitutional bodies:
(@) Only one ” (@) Only one
(b) Only two (b) Only twow
c] Onlv three
(d) All four (e} Al three
EE/Considcr the following statements - (d) None
1. I the election of the President 38. Consid ;
of India is declared void by PRSICer the following statements
the Supreme Court of India, all 0O ¢
acts done by him/her in the nce the Central
performance of

duties of his/her
office of President before the date

Gnvemmcnt Notifieg
4N area as g ‘Com
of decision become invalid,

MUty Reserye:

* 1. the Chief Wildlife Warden of
+ X State  becomes  the gux"cmE:E
2. Election for the post of the authority of such forest -
President of India can be postponed
on the ground that

2.
some Legislative
Assemblies have been dissolved

hunting is not allowed in such areq
and elections are yet to take place,

people of such

-l

area are allowed to
collect non-timbey forest produce
3. When a Bill is presented to the 4. people of such area are allowed
President of India, the Constitution traditional agric
prescribes time limits within which

ultural practices 2
he /she has

o declare his/her

How many of the above statements are

assent, correct?
How many of the above statements are (a) Only one
correct?
fa) Only one (b) Only two )
b) Only two ¢) Only three

4 fc)
e} All three |
Fc;J None fel) Al fown

XDTG-F-GST/62A 16
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b referente 10 Ehuﬂiﬂnﬂ freas
: |"|d.i.'{ e The i
5 TitE - )
Wittun & State, the notification of
kes

am area A8 khﬂﬂ!ﬂ
place through B D@Er_ﬂ_ﬂlﬂ

President =

2. The largest administrative unit
forming the Scheduled Arca 18 the
District angd the lowest 18 (he
eluster of villages in the Block. :

3. The Chief Minigters of the
concertied States are reguired
S:Ill?'l'l'lll annual reports o the
Union Home Ministry on  the

?.llml.n:le_ra'l'.u:ll. of Scheduled Areas
in the 51;:11-5.-.,'_

How many of the above sialements arn

correct?

fm) Only ong

b} Omiy-two

fe} Al three

fd) Nome

40. Consider the following statements

KDTG-F-0357/62A

Statement-l :
The Supreme Court of [ndia has
held in some judgements that _the
reservation  policies made under
Article 16(4] of the Constitution_of
India would be Iimited by Arficle 335

for maintenance of sfficiericy  of
administrainon

Siaiement-II

Article 335 of the Constitution of

India defines  the Lerm ‘efficiency of

administration’.

Which ene of the following is correct i

respect of the above statements?

fa) Both giatement-l and Siatement-1|
are correct and geatement-11 is the
correct edplanaicn for Statement=]

-1 &nd Sratement-1l

) Both Statement :
are ¢orrect and giatement-li 16
not the cormect Explanation fese
Statement-l

fe) Stimiement-l 18 carrect, bul
Sigtemeint-1l 1s marrect

fd) Ylatemeit | = imeorest bt

Satement-1l 15 correct

41, In which one of
Dhany,

ami
?hrprh'lahﬂm"'shl’kﬂr located?
 Mahasanen’® -

17

42. With refers

i)
fm} Halinga -

ng regions was
fiourished 88
ptre under

the followi
pent Buddhist €

fa) Andhra

(andhara

jdf Magadha .

nee to ancient India, consider
the fallowing statements &

1. The coneept of Stupa i3 puddhist

in origin,

7, Supa was generally a reposilory
of relice.

3, Stupa was @a votive ard
commemorative siructure in

Buddhist tradition.

How many of the statements given
above are correct?

fa} Omly one
{h) Only two
{e]  All three s
fdf Mone

43, With reference to anclent South India

&

Korkai, Poompubar acd Muckin were
well known as

fa) cupital cites

fla) potts

fe)  ventres of won-and-ateel making
fel) shrines of Jain Ticthankaras

| MTQ




44. Which gp, of

the Practice
mentioneq i,

the following explains
of ‘Vattakirutal'

Sangam poems?
fa} Kingg em

as

Ploying women

b.nd}rguﬂrdﬂ
' b)) Learne Ptrsong assembling in
Toval % 1o discygg religious
and phﬂuauphical Matterg -
fe)  Young keep;
1 PINg watch gyer
ABTICUltyyrg) fielas ang riving away
b And animg)e
fd] A defeateq i
g I a battle
cumn;:thng Titua] Suicide 1y
o Starving himself to death
45. Consider the fnl]tmtng dynasties
= . Hoysalg
2. Ga_hada\rala
3. Kalmtiya
4. Yadavg

How many gof
established

fa) Only one
(B) Only twe
fc) Only three
fd) None

46. With reference tp a

consider

the g
heir
eighth century AD

the following

bove dynastieg
kingdoms ip early

P

necient Indjan History,

pairs ;
Literary work Author
1. Dt‘mrhandmgupm ¢ Bilhana
2. Hummim-Mahﬂkﬂuya : Nayachandra 51:11-1
3. M{hndﬂ-pﬂnhﬂ : Nagarjuna .~
4 Nfﬂwkyﬂrﬂﬁfﬂ ¢ Somadeva Sun
How many of the above pairs are
correctly matched?
fa) Only one
B)  Only 1we
fe)  Only three
(d)  All four
XDT6-F-GsT/624

T
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47. “Souls are not only the

50. By which ope

property of
animal and plant life, but also of rocks,
running water and many other natural
objects not looke

d on as living by other
religious sects,”

The above tatement reflects gne of

hich one of the
religious sects of ancient

fa) Buddhism
{h) Jainism w
fc) Shaivism

E the follgw: Tulerg
Vuayanaga.ra Empire COnstructeq ;
large dam acrosg gabhadrg River
and g Canal-gy “AqQuedycy Severs]
h]otne‘rres long fr € river o th
Capital City? ©
fa) Demra.}*al

(@] Ahmag Shah 7

) Mahmuyg Begarhg -
{e) Bahadyy Shah / .
{el) Muhammad Shah

of the followin Ac
Aet
was the Governgr Generg) fgﬂe-ng-:i
designated 28 the Governgy
of India?

fa) The Hcgulaling Act
(bl The Pis Indig

ft) The

Art
Charter Act of 1793
ld) The Charter act of 1833 ~

|PT.0



51. Consige,

: the
;g relation o
1.

2,

How many
above gre Co

(a)
(B)
fe)
(d)

B2. Con

the conte xt

fcllnwing statements in
.~ “Bnani Suraksha Yojana :
It ig 5 Safp Motherhoogd intervention
of the State Health Departments.
s objectiye
and neq

Pregnan: ty among poor
It aimg

deli Lo Promgte mstitutional
Women, Among Poor pregnant
Its ubjemivc
Publie healy,

miants up 4, on

rl:*i mt?e atateml:nta Eiven
Only one

Only twg

Only threes

All four,

18 to e
tal mortga);
Women,

ncludes Providing
facilitieg o sick

€ year of age.

sider the

Interventions bein
undertaken under acmia Myl
Bharat Stratcgy :

. It Provides Prophylactic Calcium
Supplementatiop for pre-schog)
children, adolescents and pregnant
women y

2, It_qT*una 4 campaign for delayed
cord clamping at the time of child.
birth,

3 It provides {or periodie dewurng.ing
to children angd adolescents, ~

4.

How many of
above are correct?

(a)
(b)
(c)
]

XDTG-p_

It addresses non-nutritional causes

of anaemia in endemic pockets
with special focus on ma]m:m.
hcmﬂglnbinnpathies and fluorosis.

the statements given

Only one
Only two
Only three
All four

GST/62A

duce maternal .

21

53. Consider the following statements :

1.

Which of the slatements
isfare correct?

Carbon fibres are used in the

manufacture of components used
in automobiles and alrcrafts.

Carhm'_l-ﬁhl'cﬂ once us

ed cannot he
recycled,

given above

fa) 1 only .~

(b) 2 only

fe) Both 1 and 2

(d) Neither 1 nor 2

54. Con sider

11

In how many of
funection

the fnﬂuwing actiong -

Detection of Car cragh/ collision
which results in the deployment of
airbags alm

ost i.nstantanmuﬂl}r

Detection of accidenta] free fan of
a laptop towards the Eround which
results in the immediate turning oy
of the harg drive

Detection of
phone which results in

of display between
landacapc mode

the tilt of the SMart-

the rotation
Portrait and

the above actions ig the
of accelerometer required?

(a) Gni}f one

(bf Only two

e} Al three

(d)

None

[PT.O



« With v
55 - R"’E Tence g the role of biofilters
, mm“mr“m““ﬂa Aquacultyre
1. E"If)f'
:;:r“ Provide wagte treatment
“¥INg uneaten fish feed.

System,
n_ts H

B

; r:ofl;:;::ra Convery AMmonijg Preseng
Waste ¢, Nitrate . e -

Bioﬁltera i ,

) anp
nutr:em for

. Phﬂﬂphﬂl‘ua as
fish i Water. 1\

Btatcmentg Eiven

Giant clouds
Bas in space

Stars which brighten ang
dim Periodically

stars are
formed when massive stars
Tun out of fuel and collapse

How many of the above pairs are

correctly matched?
(@) Only one

(b) Only two~

fc) All three

(d) None

XDTG-F-GST/62A

57. Which one of the following countries has

its own [Satellite Navigation Syatem?]
fa) Australial}
(b) Canada”

(e} lsrael \.

(d) Japan”*

their flights, whije cruise
are rocket-powered

phase of flighy, |

while
solid -fuelleg
tic migsile.

is a
intercnnﬁne ntal ballis

Which of the state

ments given above
is/are correct?

(@) 1 only
(b} 2 only
fc) Both 1 and 2

() Neither 1| nor 2

| P.T.0.
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50. Cnnsiderr ®  follow;
regarding Mercyry, WINg  statements

I.

Pollution -

ing ACtivity ig o source
¥ pollyg;

on in the world,

thermal poyer ;;l&nta
ury Pollution,

—
19 knowr,
m

{a) Only one

(b Only twe ¢

€) Al threy’
([d) None

60. With reference 4 | green hydmgcn\:'l
consider the following statements . |

HL}TG O

A

1.

It can be used direct]

¥ a8 a fue]
for internal combustion, :

It can be blended with natural gas

and used as fuel for heat or power
Eeneration.

It can be used in the hydrogen
fuel cell to run vehicles.

How many of the above statements are

fa

Carrect?

Only one

) Only two

fe)

All three

(d) None

GST/62A
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61. Consider the following countries

1. Bulgaria ~~

2. Czech Republie #

3, Hungary -

4. Latvig .

3. thhuani.a

6. Romanig .~

How the

Countries share o laigovl?mentmn_ed
ainep Order With

(a) Only twe

(b) Only three

(c) Only four~

(d) Oniy five

62. With reference g the g W

which one of the fD]]!.'J o E-ttn:'la pl'l e,

Correct? 3 18

(@) The g oun "
received at the o Atigp
about 10 timeg n?ﬁ trr Ughly
the poley, Clveqd

(b)  Infrareg Y8 copen
two-thirds of inmgﬁ;‘: te Tough)

fe} Infrared Waves are 15, 1
by  water va urgcyg_::.“fbgd
concentrated i the ! 15
atmosphere Ower

(d)

Infrared WavVes ar

s € a part of i
Specirum of elept

: ble
] run‘ﬂgnl‘:“t “'ﬁ‘rnu
of solar radiation. _
| PT.0



63. Consider the following statements '
' Statement- :
X

The soil in tro
in nutrients,
Statement-ll :
he high temp
°f  tropical
dead

decum

pical rain forests ig rich

Erature and molsture
ramn  forestg cause
OTganic matter in the g0 to
Pose quickly,
Which one of the following is correct in
the aboye sta

temente)
(@ Boty Statement|

(b)

et = lanat
Statr:mcntl - e
(c) Etatement—-l CoTrect gy
tatement—-ll im ingn-rcct
(d) Statement_j 18 incorrect but
St&tement~ll 18 correct

64, Consider the followin

E statements -
Stat:ment~[ :

The temperature contrast betweesn
continents gng oCeans

is

Ereater
during sumrher than in winter

Statement-J] 1

The specific heat of
that of land surfac

water is more than
e,

Which one of the following
respect of the above state

(a)

1s correet in
ments?

Both Statement-] and Statem;nt—-ll
are correct and Statement-1] is the
correct explanation for Statement-]

Both Statement-l and Statement—I]
are correct and Statement-l]
not the correct
Statement-|

(b)

15
explanation for

(c)

A

e

Statemeni-| 15 correct
Statement-1] is incorrect

Statement-l is  incorrect
Statement-11 is correct

but

but

ADTG-F-G ST/62A

65. Consider

"

67,

aT

L

2,

Which of the Statementsg
1s/are corrects

fa)
(b)

the following statements -

In a seismograph, P waves
recorded earlier than S waves,

InP waves, the ind

are

Eiven above
1 only

2 only

() Both 1 gang T
(d) Neither 1 nor o

follg

fa) Only gne-

(b)
(c)
(d)

i Icﬂa_bbaﬂtd the
. Ty 4
Wing Statementy . consider th,

None of them Uses Beawatnr

of them

in
W&ter—atresagd d iatl’igt . 5

% oup g

tely OWneq %
the aboye “‘-‘-ﬂlﬁkidnen;: ;re

Dnly tor e
All three

None

it 18 somet;
about with referene t wl'?;;? alkeq
e I'nllu"-ring? e of
fei) Cuntrullmg the i
dis
spread by Mosquitge S
(b) Eanv:rting crop residues
Packing materia| g
fe) Pmdun:ing b'mdr.gradahiﬂ Plasticg
(d) P'rradul:i.ng biochay fram thermg.
chemical conver

slon of blefmags

| P.T.O.



TR
e L
-.ﬂ_l":l . g
o L W 68. Consider the following activities
i gh:" ,@: 1. Spreading finely ground basalt rock
4 iy & on farmlands extensively
93 s Ty 2, Increasing the alkalinity of oceans
> ) N W, by adding lime'
M 3. Capturing carboy dioxide released
5 %"*T ﬁ:% by varioyg industries ang Pumping
; % ™ T intp abandoned subterranean
i{m %fi #y ‘T;J::El N the form of carbonated
" v
I'IGW mﬂ.'l'l}" of th Loabas
often cnnaidnredt :ﬁm :;::::::: HF:
Carhon fur . d
—— "~ “Apture ang Bequt:atrghnn?
(@) Onyy one o
L (b) Only ty,
Wiy i (€ All three
() None
r;?;q" 341:::- ) b ﬁc;;i'al nelagenomics best refarg te
: T 5 =  which gpe 1.'Jf the following situationgp
1] (a) PDHECtm;E DNa, Samples frgm air
. P I & habitat ¢ one go
o L Trn :
- ;_ (b) U“dﬂ_"‘-ﬁlandlng the genetic makeup
’ 751 of avian Species of g habitat+
i1 & fe) Using air-borme devices tg collect
?ﬁiﬁ' n_u-:l i samples  from moving
! anima
fed) Sending drones g Inaccessible
areas to collect plant an anima)
samples from land surfaces gnd
water bodies
70. ‘Microsatellite DNA’ is used in the case
o) ﬁﬁgwi of which one of the following?
& wuET fa)  Studying the :vnlutio:?ar}.r
4 T relationships among various
o _" species of fauna
+, #, Tﬁ., i) Stimu]aling 'at-;m cells’ ~ to
. EF' - fransform into diverse functional
1 lissues
spe 1 (¢} Promoting clonal propagation of
irs! ﬂﬁ_ﬂ'_f:r harticultural plants
ﬁﬁﬁTﬂ‘ﬁ;{ fd) Assessing the ellicacy of drugs by
T ]ﬁ Rﬁ i

conducting series of drug trials in
a population

XDTG-F -G5T/62A
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71. Consider the followin
reference to India -

. According to the ‘Micro, Small and
Medium Enterprises Development
[MSMED] Act, 2006’, the ‘medium
enterprises’ gre those with
investments in plant and
machinery between T 15 crore and
¥ 25 crore-

2, All banlk .08 to the Micrg, Small
and Medium Enterprises. qualify
under the Priority sectpr,

Which of the statem ts g

o Seras ents given above

fa) 1 only

(b} 2 only.»~

(e} Both i and 7

(d) Neither 1 nor o'

« With reference o
P - C

digi rmnms}]mr.ag;ﬂt,fal k

Stateme e f-::ll:}wmg
It is possibi
in a digita] cfmt*eﬂn S pa”“‘*f‘t”
US dqg  Without g

3 A " SWIET gyq &
. digitg)] : :
Gistributeq €Ny gy, ,
PrOgTammeq jpg, i h' o Ndition
frame o, SPending 5 L A8 time.
, ng it
Which of 1, CMments .
18/are correers S Biven apg,
fa) 1 only
) 2 onyy
fe) Both 4 and 5
(d)  Neithey I nor :ié
73. In the Context of
refers t > finance, the e hegys
fa) the Process
and act a surnu;:’am_:mm hu_-.,-mg
ifferent Platformg RSt from,
fb) an 'mvcstmr_-nt t :
Portfolig Manage, iuméfﬁ’gr ot _a
VETsus rewarg ¢ risk
fcl a ype of SYStemie ri
: - Sk thay
anses w el
Pﬂ'sﬁibleherc teriet hedgmﬂ 1% npg
fd) a numeric value that o :
Muctuations of a a'tﬂ-l..‘k“;im:;:fnl:t
i the overal) Stog s

£ statements with

K imay ket .

| P70



4. Considear the following statements -
L. The

iding microcredit to the
f'manciall}r deprived +

In an SHG, an members of
takg rgapnnaibi]ity for a
AN individya) member takes,

The Regiona) Rural Baps and
Scheduled Commercia) Banks
SUpport SHGs,

a group
loan that

(bj Only tw

'i'c; All three

(d) None

75. Consider the following statements

Statement_j

India’g Public sectgr health care system
argely focuses g Curative care wity
imited Preventive, Promotive png
rehabilitative care,

Statcmn:nt—-ll :

Under India’y decentralized approach
to health care delivery, the States are
Primarily responsible for Organizing
health Services, ;

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-] and Statemgnt—ﬂ
are correct and Statement-Il is the
correct explanation for Statement-|

(b) Both Statement-] and Statemenl_hlll
are correct and Statcmeljl—ll is
not the correct explanation for
Statement-] »~

fe) Statement-I ig correct  but
Statement-Il is incorrect

(d) Statement-1 is incorrect but
Statement-Il is correct

XDTG-F-GST/62A
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76. Consider the following statements -

Statement—| i
According tq
World Water

the Uniteq Nationg’
2022, India

Development Report,
extracts more

of the world’s Eroundwater
withdrawa] each year, .

b’
: NKing water
; Bml-gmnnn Needs p must 18%

ol world's Population |, i

tarntnry E In jig
Which one of the following ; i

Eis ¢
TeSpect of the above Statem tl:';'mct .
(@) Both Statemeny_g an
8re correct

rStatement=I
Bath Statcrn:nt-1 d Bt&tcment 11
i Correct an Stateru!:nt—-ll is
£ Correct e i
Stateme -] = won. for
[g,l- Btatcmt:nt—i is
Statcment—ll 13 incory > "
(). Statement.
Sta:

E INcorreet
tementqy i COTrect

of Indig
the Statesg from i
counse] ¢

O & persan bei
Preventive detention,

3. ﬁccurding o the Preventian of
Terrorism Act, 2003, Confessign of
the accused efare the Ppolice
cannot be ugeq e,

a8 evide
How many of the g
correct?

{a) Only one”
(b} Only two
fe) All three
d) None

NE held fop

| P.T.0,



OWing countries has 80. Consider the following statements in
°" suffering from decades of civi] strife Tespect of clection to the President of
and foog uhurtagns__and Was in news India : —_
In the Tecent past for its very severe
famine?
L. The members nominated tg either
House i :
@ Angate u j.-.-l' the Par!:a_mnn; or the
Legislative Assemblies of States are
also eligible to be j led
B Costa 1z Included ip the
ta Rica Electoral Cnﬂl:gc_ ?(\ wl
(c) Ecuadgr I .
) 2P -
2. Higher the NMumber of elective
@ Somatis oerombly_seats, highay s the
e of vote of sagh MLA of
State, """ 0 that
] ‘-._-d _. 3 2 L r-‘
79. Consider the fﬂllﬂwi'nﬂ statements 3 ﬁL ' ﬁ-" 2
3. The value of vot g ~
. f eq
Lol india, g, Biodiversity o Madhya Prageg i grea:h -
Management Committees are key that of Kerala,,- S
to the realization of the nP}:cﬂves
of the Nagoya Protocol, . The value of Yote of egep
— _ of P“d_ui’%i’.!]f 18 higher —_
¥ 2. The Biodiversity Managemeny of Arunachg) Pradesh peg, . 'Pat
Committees have important ratio” of totg Fﬂpulatiunmt]:ac i
functions in determining accegs Number ""—_EEEW Seat tp';-a]
and benefit sharing, including the Puducherry i5 Ereater a4 mﬁg "
POWer to levy collection fees on to m“a':harpfﬁdtﬁh- =
the access of biological resources '

within its jurisdiction.

Al

How many of the above statemenig A
Which of the statements given above

correct?
1s/are correct?

fa} Only one
fa) 1 only -

(b) Only two »
fb) 2 only

() Both 1 and 2 (c) Only three
[ 18]

{d) Neither 1 nor 2 (d) Al four

|PT.0
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)
81. 1‘.::‘.11 rE{Eﬁre 1o the Indian History, 83. Consider the following statements .
\ cXanda
o Sewel] Jr % A H, I-Gnghursl, Robert Statement-{ .
were agg. = Blrgess and Walter gpjio 7th August is declareq ag the Nationay
vere A%S0ciatey With Handloom Day.
Statemen - -
fa) archaegy, ic L t was in jg9pg that the Swadesgh;
Bical Exca‘uatmns Movement Was launchegq on the Same
day,
ib) establig :
o I;"‘“‘_" °f Engligp, Press in Which one of e following g Correct
al Indig - In respect of the above statr:m:ents?
fa) Both Etatemcnt—-l and Etat:ment—-]t
(c) Eatablishmem of Are correct ang Etatement—ll i
o ) : 18 the
Princely St Rurcheg in Correct “*Planation gy, Statementaf
fB) Both Smtement-l and E‘satemcnt 11
: are  correct and ment-q
(ed) COnstruction railwayg not the g4 Ct  exp] ation
Cclnnia] Indig o ) Statl:m:nt—-]
fcj Statemcnt—-! is COrrect
tatcmenb[[ is mmrmct but
. . . fd) Statemcut—-—l is INcorr
82 Car:sad:r the fﬂ]In"-ﬂng Pairg - St&tﬂmenb—]] is Correct WeL but
-T % Consider the f::llw.ring State
, i Menty
Site Well known f, acrr . of the Nationa] . of IarL:dli:
ACCor to :
e :Lng the Flag Code of [nd:a,
1. BESHEIEET : Shaiﬁtc Cave shrine Statg:m.gnt—..] :
One of the tandﬁrd 8i
zeg of
2. Bhaja - Buddhist cqy, shrine © Nationg) Flag ¢ Ind;i |
J 600 mm =400 mm, " s
i . ; — Statcment—li : :
3. Sittanavaga] + Jain cave g rine € ratio of the length 1o the height
- (width) of the Flag shay be 3. 2,
Which one of
How many of the above pairs are

e [ﬂ]lnwing iz ¢
IN respect pf the aboya
Correctly Mmatched?

o
Slatementgs
fa) Both Statemeni—j A

nd Statement—u
are correct ang State
correct explanation f
{b) Both Statement- Atemengqy
9 Only one are correct anpg Statcment-ll is
not the ecorrect
fb) Only two

eXplanatigp for
Statement-|

fe) Statement—| 15
fe)  An three

Statement-11 is neo
(d] Statement-1 s
Statement-1]
(d) None

COrrect

but
rrect &

INCorrect but
IS COrTect A

xf.‘l'[‘ﬂ__

[PT O
as
P~GST/62A

T



L

85, Consider the follow
respect of the

Staipe ment-] -

g statements in

87. Consider the following statements -
Constitution Day -

Statement-] . .
Recently, the United States of America
The Constitution Day is celebrated on (USA) and the Eumpcgn Union (EU)
26 November CVETY Year to promote have launcheq the \_ Trade and
“Onstitutiona values among citizens, Technology Council’, |
lalcment-]] 1
: Statement-1y - 4 +
On 26th November 1949 e i
Cnnstitucm Assembly of India 1s!.i.ztﬂ-l e o e Hy Sihim t!::at
8 Drg g mmf{ten e t‘;ﬂ through thig they are g€ to brin
Chairmanship A Dr B 5 .ﬂ.n:r e t:chnnlc‘-g;cal pmg:-ﬂas_ and physgica]
;::mpre T€ a Dragn Constitutin of Productivity under their control, \
wh_'a Al o g Which one of the fullnvnng is correc
& ::: one of 4, following i — N Tespect of the above tatementg?
heh Pect of th bove Statementgy (@) Both Statement_j and Statemeps 1
4] Both Stnterncnb and Statemep I are correct and Statementhn is the
ATe correcet and st EMent-11 ig ype Correct “Xplanation f, Statemen; I
CorTect “XPlanation g, Statement. ] (B) Boty Stu,t:rngnt._] tate
(L) Both Stat:ml:nt—-] d Stat:m:nt 11 are Correct and gt Emet?:flrjlt 1
COrrect aned te ent-II ig o the expl ti 5
not th, t Anation fq, Sl&t:mentl R for
tement. k( Statemen;. 1 g "
o) tﬂtﬂmﬂnt-l is correet but S Sment-qp LE:] ihcnrre::t “ aat
atEmEnt-—[I 18 in Trect fe) Et&ttmcnt-. is incg
“@ Smﬁiﬂiﬂ?h .18 incorrecy but Statement ; correcy ot bu
~H 18 correct 88. Cong; :
86. Consig . Onsider the fu‘slnwmg Matemeny, |
* “onsider the fnllcmrmg Statementg . S‘Eatemcnt-] ] )
Statement. 3 ndia aCCountg for 3.9, |
= ; Jﬁ
Witzerlang g one gof the leading cXport of Eoods, =0t Bloba)
€Xporters of golqd in terms of valye. Statemeng_y;
Statement_j; : m::f-'f l:":a'] Panieg t ag
Switzerlang has the semﬁd largest have ts:-; Panies “Pﬁr&tmg in | e
3 &N a4 t Nidijg
gold reserves n the world: 'Pruductinn~ljn Im&gc_ ’ “ﬁia@{
i entive
Which one of the following is correct Which one g S py i Scheme”
in respect of the above statements? in TEspect gf th v: 1'::25 B ﬂﬂrrcct
fa) Both Statement—] and Etatemu;nt_u (a) Both State -1 ang Sta SRAE
are correct and Statement-I] ig the are correc tate gnttm?m-.n
correct explanation for Statement-] correct exp) tion f tm:t l:n?-if
(b} Both Statement-] and Statement-1f (b) Both Statemen;y terme t‘
are correct and Statement-1 js are correct gng tatemeny 111!
not the correct explanation for g?;te::::ntf? ct ®XPlanatio, £
Statement-] but fc) Statemen -] 8
. 1 u <1l= 1
(c) Statement-| s CUT;‘ECI Statement-| ;g innnrr:;E but
Statement-Il js incorrec Statement- |
I is  incorreet  but W, .
(d) Statement- 1 5
Statement-11 is correct

37
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Olloy, hg State Enty
ThE ‘Etabll'ltf,r ang Grn Pass
By, s L At of the
Nioy, s g treaty that
1 'lilhita e
| le\rela f
ﬂEﬁclt the {:au:::ig:uigﬂa@
Eumpe Uni»:m )
2 Make & .
auntn&a
Eu Peap, Umun to aharﬂef thtgi:-
u‘lt‘rastruc re t‘aniliti-:s —
3 Snapy e nuntriﬁa
of
Eurupr: Mon 4 Share tht?;
‘tEt:hnGl
.\/:
How the aboye atatementa
Corra t?
(a) ’Dnl}r One
(b) Only two
(€) ay three.
@) None

correct?

(@) Only onew”
(b)  Only two

(c) Al three
(d) None

XDTG-F-G8T/62a
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nsider
ith reference to Home Gu_ ds, co
the follg ng atatements :
Home ards are raised Under tht';_
* Home vards aqe and Ryleg 0
the Qo ral vel“nmf:nq ,

2, The Tole of the Home Hards jg
to Ve ag an ayyiy force to
the Police . rnalhtenﬁnc& of
intemal Curity,

3 To Preveny infj] tio on  the
mternatinnal hc.rderfco sta] eas,
the Borde, Wing Home Guarda
Batta,liuna haye been, Taige in
S0mp Stat 8,

How 1Y of the aboye &tatcmnm are

E:ﬂl‘rnct?

(a) Only one

(b) ¥ twg .-

(e}  ay three

fei) None

92, With rf:i'ﬁrcnc: to India, COm -
fﬁuﬂwing_ Airg N8idey the
. L&
Action, Whicp, it ig "-'::f::'gd
1 Unauthnﬁzed Wearing ! The Offje
i : 1a] Eet:mt
of bBolice nl""‘mmtgur *“uct. 195
urii Ormg o 3
2, kﬂﬂ_-;_in;b mialeading ' The
or Otherwig Nter. dﬂl‘me :g:ﬁria?ﬁlvi,
fen'.ng With Polica ’ 2
officer r Militar,,
officer When “Ngagay
in thejr dutieg
3. Ceicbrata Eunfir. ‘ The A .
Which €an g ANger Immt] :—:':t {;ﬂﬁndh
€ Persong) Safety of - 9
others s

Haow Many of ﬁbm. :

correctly Matchegs > Pairg fre

(@ Only gpe -

(b Only 1y,

(€ Al three

(d) None

Lo



93. Consiger the following pairs -

95. Consider the following pairs with regard
to sports awards :
Regions often Reason for being 1. M yan Chand -
. : ; - Major Dhyan Changq - For  the most
Mentioneq i, news in news Khel Ratna Awarg Spectacular and
L. North Kivu ang Tturi : War between + nutstanding per-
nia and ¥ formance a
Azerbaijan Sportsperson over
2. Nﬂﬁﬂmn-l(a.mbakh " Insurgency in +
Mﬂmhiquc
31 E‘l‘gt'l’aun Erld

Yearg

. 2. Arjuna Awarg :"For the lifetime
sl . Dispute between achimmcnt

Porizhzhia Istael ang Lebanop a SPOrtspergon ‘P}

3, Dronach a A :
:-Inw many of (e aboye Pairs gyre win Ay .“I:‘n iy o
OfTectly mnlc'l';e_d? a{i‘aih“ 0 e
cCessfully traineq

(@ Only one :f“rtﬂpﬂﬂnna or
] Only twe 4, Rashtri:.ra Ehel - Rl
e} An three Pr
fd) None

H |
Otsah '
_“—-'—-—-_El____ljumsk“

m
o % abores aﬂ:
::Ent‘. Alter thejr
ent
How many o the aboye .
Correctly Mmatcheds Pairs are
(@) Y one

] Only twg

diplomatic fe) Oni three *
S0me Ary States- e
fd} An four
Statemcnt | Fh
The 14 |n95. 'Consider the in
i P Peace Injtiagiyg pooantly NS e 8 the 44th CpeeatMenyy
audi Arabig S signed by taraal 2023 . Dl}'mpiad.
and Arap agy LTE was the firgy 4 th
) Olympiag WVas held iy Ind; hess
'_'n’.fhn:h one of the fu]lﬁWhg 18 correet 2. The officig Mascqy Wag
I respect of the aboye Statementgn ambi', flameq
fa) Both Statemeni-| and Statemen_yy % Thet;mphy foz the Winning team
are correct ang Statement-|] ig 1o Emcﬁi; Cup, ction ia tne Vera
correct explanation for Statemen. o
4. The trophy fup the Winning n
(b) Both Statement-| and Statement-|; N the women'y Section g the
are correct anpg Statement-y) s Hammun-Russru Cup.
not the correct explanation for How many of the statemenyg Elven
Statement-| above are correct?
) Statement] g correct b (@l Only one
S[atement—ll 18 incorrent” (b) Only two
[d) Statement-] s ncorrect bt (el Only three
Sl.altn‘mnl—” is correct (d) Al four
: 1
UG- G7/624 *
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97. Consider the following pairs :

99. Consider the following heavy industries -
Area of conflict

Country where 1. Fertilizer plants
mentioned in, neis it is located G
Ll ae s 2. 0il refineries
1. Donbas :  Syria ¥
3. Stee] lants
2. Kachin - Ethinpiaf' P
3. Tigray :  North Yr:mIn Green hydrogen ig expected_tn,_.p.iay
e a significant role in de{:arbunizhg how
many of the &k, P
How many of the above pairg are SRS S
correctly matcheg

ove industrie 87
e

(@) Only one

fal Only one (B) Only two
(c) All three .~
1 Only two (4} None
(c) Al three 4
. Clbaider Hhe following Statementg abo
t
{d) None
s 1
The t;.hzn &roup o
Estahlmhed Plﬂtfnnn T;Elnally
. . G o
98. In the recent years Chad, Guinea, Maj “]‘:““ Nisterg 5 C: the
and Sudan faught the internationgl ?:t: Governory 4, discyge
attention for which one of the following . r':f'-"llﬁflﬂ-l COnom, the
Teasons common to all of them? ‘Rancia isay ang
A 2, D]E]ta] Pllhli:: i .
fa) Discovery of rich deposits of rare of India’g g 2 : _Eaurg is op,
carth elements _ -
Which of the Statemen, Riven
i 1s/are abps,
(b} Establishment of Chinese military /are corrects boye
bases ‘ @ 1 ony
fc) Southward expansion of Sahara (b) 2 onlys
Desert :

(¢} Both | and- 2

{d) Neither 1 nor 2
fd) Successful coups
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